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3

Statistik

Paginaldi 1

Schusswertlz 10 9 8 7 6 5 4 3 2 1 0 Gesamt (Ganze Ringe): 130

3 6 8 8 7 61 Ringe
3,6 6,5 8,7 8,9 7,9 66,6 Ringe
5886,2 3563,9 1838,4 1670,4 2447,9 =

Anzahl: 0

8 4 9 4 3 69 Ringe
8,9 4,5 9,9 4,9 3,3 74,8 Ringe
1661,3 5163,1 870,5 4839,9 6130,2 =

Anzahl 0 0 4 6 2 2 0 2 4 0 0 0 Gesamt(Zehntel Ringe): 141,4
Serie 1
Volle Ringe 3 3 8 9 6
Zehntel 3,2 3,8 8,1 9,9 6
Teiler 6200 5736,5 2295,4 809,6 3934,1
Innenzehner
Serie 2
Volle Ringe 9 7 8 8 9
Zehntel 9,5 7,9 8,3 8,1 9,5
Teiler 1152,7 2427,7 2151,8 2252,6 1191
Innenzehner
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Anzahl: 0
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